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In AABC the following relationship holds:

m2 + mj — c? m? + m? — b? mi + m? — a?

) ) + ) ) + .9 ) =3R2
sin?(A) + sin*(B) sin?(A) + sin?(C) sin*(B) + sin?(C)

Proposed by Ertan Yildirim-Turkiye

Solution by Mirsadix Muzefferov-Azerbaijan

a
sin(4) = 3R

: _°
R ; sin(C) = R €Y

b
; sin(B) = 3R

4m? = 2(b? + ¢?) — a?
Also - {4am} =2(a® + ¢?) — b? (2)
4m? = 2(b? + a?) — ¢?

Let's write the expression (1) instead

R 4m2+mj—c?)  4mi+mi-b?) 4@mi+mi—a?))
b? + a? c? +a? b? + c? B

g2 4m2 + 4m? — 4c®  4m? +4m? —4b?  4m? + 4m? — 422\ @
b? + a? c2 + a? + b2 + c2

. 2(b?2+c?)—a?+2(a?+c?)—b*—4c* 2(b?+c?) —a? +2(a® + b?) — c? — 4b?
( b2 + a2 + c2 + a?

+

2(a? + ¢?) — b* + 2(a? + b?) — ¢* — 4a?
* b? + c? )

2<b2+a2 ¢ +a?> b?+c?

_ 2p2
b2 + a? + ¢z + a? + b2 + cz> = 3R" (proved)



